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Solve the system of equations by substitution.

10x + by = 20 3y +15 = -6x
EX =20 - 10x Isolate the y (everything divides by 5)
5 5

y=4-2x 3(4 - 2x)+15=-6x Replace y with 4-2x
12 - 64+ 15 = }ox Solve for x
A%
27=0

Since the x gets eliminated,and the numbers are not

equal, it is[No Solution
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Solve the system of equations by substitution.

y=2x-4
y=3x+6
y=2x-4

X

-4=3x+6

Isolate any variable (y is already isolated)
Replace y with 2x - 4 in the other equation
Solve the equation for x.

Plug -10 in for x to findy.
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Solve the system of equations by substitution.

4x +2y=10 3y=12x+9

y=4x+3 Isolate y (divide by 3)
4x +2(4x +3)= 10 Replace y with 4x + 3
4x +8x + 6 =10 Solve for x
12x+6=10

12x = 4 y = 4(1/3)+3  Plug in the value for x
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Solve the system of equations by substitution.

By +x=-14 -9x + 3y = 30
x=-14 - 5y\ Isolate x by moving by
-9(-14-5y) + 3y = 30 Replace x with -14-by
x=-14-5(-2) 126 + 45y + 3y = 30 Solve fory
126 + 48y = 30
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Solve the system of equations by substitution.

2x-3y=18 y=-2x+2
2x -3y =18 Y=-2x+2 Isolate (y is isolated)
2x - 3(-2x+2) = 18 Replace y with -2x+2
2x+6x-6:=18 Solve for x
8x-6:=18
8x= 24
y=-2(3)+2 Plug 3 in to find y
y=-4
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Solve the system of equations by substitution.

y+x=8 2x+3y =10
x=8-3y 2x+3y =10 Isolate ANY variable
2(8-3y) + 3y =10 Replace x with 8-3y
16 - 6y +3y =10  Solve fory
16 -3y =10
-3y =-6
=21
x=8-3(2) Plug 2 in to find x
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Solve the system of equations by substitution.

y=2x-6 4x-2y=12
=2x-6 Isolate (y is done)
4x - 2(2x - 6) =12 Replace y with 2x-6
Ix~4x+12=12  Solve for x
12=12
Since the x gets eliminated and the numbers are equal, it is

Infinite Solution:




